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- ML (OCaml)
* https://ocaml.orqg/

- Haskell
* https://www.haskell.org/

- Scheme
* https://www.schemers.org/
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let f x = x+1;; (* BE&f(X)=x+1 EEZE *)

val f = <fun> (* FEFIETRATLOE H*)

f(3):; (* f(3)z& M *)

4

f(f(3)):.

5

let rec sum n = if n=0 then O else n+sum(n-1)
* I onETOMNZEE T AR ZHIFMICEE *)

val sum = <fun>

sum(10);;

55
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(EREREEZF D1 B %Z R I %)
let f xy = x+y;; (* 25IEAEAEL *)
val f = <fun>
fl2z:.
3
let g = f 1. (* yE£ 5o Tl+yZR 3 BE% *)
val g = <fun>
g 2.
3

(* #ER. flIxZELo 2T, lyztd oo Tx+yZ RIEMIZIRT
15| EAMEADTELTED ™)
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(SEREHTD2 . EAMZs 2 EHEE)
let twice f x = f(f x).;
(* B#Efzto->TeEnZz2EERAY HEEE™)
let succ x = x+1;;
twice succ 3.

let rec sum n = if n=0 then O else n+sum(n-1)

let rec sumsq n = if n=0 then O else (n*n) + sumsq(n-1)

let rec sumcube n = if n=0 then O else (n*n*n)+sumcube(n-1)

(* RC&IGNEZ A ELEDIEEHLLY,
SfERESZRANT—HRIETHE.*)

let rec gensum f n = if n=0 then O else f(n) + gensum f (n-1);;

let sum = let id x = x in gensum id

let sumsq = let sq x = x*x in gensum sq

let sumcube = let cube x = x*x*x in gensum cube
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fun x-> e:

xZ 5| MELTRITHY ., eDEZIRT B

let rec gensum f n = if n=0 then O else f(n) + gensum f n;;
let sum = gensum (fun x -> x)

let sumsq = gensum (fun x -> x*x)

let sumcube = gensum|(fun x -> x*x*x)

xZH 52 Tx*x*x% R I Ba K
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- BABEREES

- fil:x y z [£. x(y 2)TIELL, (x y) zDEK
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- Bl ax. x y [ (Ax. x) yTIFEEL A, (X y)DE

HIRR: LT DORICERDNEDLENKIIZFRIIZE DT
K

AX.X X AX.X X AX.X
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- fil:x y z [£. x(y 2)TIELL, (x y) zDEK

« SLAFH
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- Bl ax. x y [ (Ax. x) yTIFEEL A, (X y)DE

&
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I:I

HIRR: LT DORICERDNEDLENKIIZFRIIZE DT

- Ax((x x)(Ax.((x x)(Ax.x))))
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(Ax.M)N - [N/xIM

MDOFBDx ZNIZBENAT=1D
(MEEDXADND A SERETHER)

fl: (x.x+1)2 -5 2+1

(Ax.x+1)((Ay.y+1)2) > (Ax.x+1)(2+1)
— (2+1)+1

2EHDPIDELSIZ, Ax.MNDF2ZLTWSEED

BBoXEIN/XIMIZEEHIZTELY,

2EBHDOKIIRDELSICHEHTES,
(Ax.x+1)((Ly.y+1)2) > (Ly.y+1)2 +1> (2+1)+1

EDFHLFIEFTHAL THEHBRICITEZEN L

(BRI B5Fv—F-OvH—DTEE)
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(Al A

(Ax.M)N - [N/xIM

MO Dx ENIZEEMZT=HD
(MADXADNDEA) J

(Ax.(Ax.x)(x+2))1 > [1/x](Ax.x)(x+2) = (A1.1)(1+2)??

1 Ax DOXIZIZRAITRESARLY

(Ax.(Ax.x)(x+2)1 — [1/x](Ax.x)(x+2) = (Ax.1)(1+2)??
¥amm2: AEICSAX.L BHESEEICIELPDXIZIE

=l

[ S

RAZRBIEL

R (Ax.(Ax.x)(x+2))1 > [1/x](Ax.x)(x+2)= (Ax.x)(1+2)
ICARIOEHTH, HERAMEICK>TR
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(Ax.M)N - [N/xIM

MO Dx ENIZHEEMZ=HD
N (MEBBDX~NDNDEA) /

(Ay.(Ax.Ay.x)y)1 2 > (Ay.[y/x]Ay.x)1 2 = (Ay.Ay.y)1 227?

IEf#: (by.(Ax.Ay.x)y)1 2 > (hy.[y/xJry.x)1 2
= (Ay.[y/x]hz.x)1 2
= (Ay.Az.y)1 2

HIR3: ARMNERTHHERICIIAYTIRE]
SNTLWSRINER AT ITEZ (0 FHR)
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IN/x]x =N
[N/x]y =y (x£y)

[N/x] (M; M) = (IN/xIM; ) (IN/xIM; )

[IN/x] (Ax.M) = (Ax.M)

[N/x] (by.M) = Ly [N/xIM

(x£ yDyHINIZ

[N/x] (by.M) = Az.[N/x]
(x# yhDyHINIZ
z[FFHLULVEA)

[CHIE*LELGE)

2/yIM

IZHIRT 5155,

e [xHMIZ HIFET L&,
AIXDREITLEIMIE XD HIET 528
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o HEBEBRMNEBENLGLIIIZ, EEFEIMZEA
JTHIES
— 151 -

[Ax.x /y] (y z) = ([Ax.x / yly) ([Ax.x / y]z)

= (AX.X)z
HRIlZ (T ENdE Mxxz =Ax.(x2) IZHE->TLES

cf. Eﬁ?’ﬁiiﬁ y=x+1, x=3-y Ty ZHETHE
— (x+1)
*ﬁ%’&'ﬁ“f:uhé& X=3—-x+1
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- LTOXZZEN L EBHTEELEICETHNE X

- (Ax. x'y)y

- (AxAy.Xy)y
- (Axx(Ax.xYy))y

- (A Ax.f (f x)) (Ax.%x)
- (A f.f y x) (Ax.y.x)
- (Ax.y) ((Ax.x x) (AX.X X))
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